
$VVL'RPlQ $% x &RUSRUDWH &RPPXQLFDWLRQV x 6(0438 55 6WRFNKROP x 7HOHSKRQH .79 ; 988 <3 33 x 7HOHID[ .79 ; 988 <7 34

,QIRUPDWLRQ3UHVV

$VVL'RPlQ RVWDD DDOWRSDKYL\ULW\NVLl 6XRPHVVD

$VVL'RPlQ RQ RVWDQXW NROPH DUNNLMDORVWDPRD 6XRPHVVD1 8XVLHQ \ULW\VWHQ \KWHLQHQ
OLLNHYDLKWR RQ QRLQ 93 06(./ W\|QWHNLM|LWl RQ 78 KHQNLO|l1 7HKWDDW RYDW 3DNLWH 2\
+HOVLQJLVWl/ 3LUNDQ 3DNNDXV 2\ 7DPSHUHHOWD MD 6HLQlMRHQ /DDWLNNRWHKGDV 2\
6HLQlMRHOWD1

6XRPDODLVHW WHKWDDW RYDW RVDD $VVL'RPlQ )|UHQDGH :HOO RUJDQLVDDWLRWD1

2VWDPDOOD PDLQLWXW VXRPDODLVHW WHKWDDW ROHPPH Q\W HGXVWHWWXLQD YLHOl \KGHOOl
PLHOHQNLLQWRLVHOOD PDUNNLQD0DOXHHOOD MD YRLPPH SDOYHOOD DVLDNNDLWD/ MRWND KDOXDYDW
WHKGl RVWRQVD \KGHOWl MD VDPDOWD WRLPLWWDMDOWD NRNR 3RKMRODVVD/ VDQRR $VVL'RPlQ
)|UHQDGH :HOOLQ WRLPLWXVMRKWDMD /DUV +HLGHQEHUJ1

$VVL'RPlQ $%
&RUSRUDWH &RPPXQLFDWLRQV
533303<03;

7LHGXVWHOXW=
5ROI 6YDQOMXQJ/ 7- $VVL'RPlQ 3DNLWH 2\/ +HOVLQNL/ S1 3<0;867;66
/DUV +HLGHQEHUJ/ 7- $VVL'RPlQ )|UHQDGH :HOO $%/ 5XRWVL S1 .79 746 9;333

$VVL'RPlQ RQ (XURRSDQ MRKWDYLD PHWVlWHROOLVXXV\ULW\NVLl SDNNDXVWHQ/
SDNNDXVSDSHULQ/ VDKDWDYDUDQ MD SXXQMDORVWXNVHQ SLLULVVl1 .RQVHUQL RQ P\|VNLQ
PHUNLWWlYl PHWVlQRPLVWDMD 5/7 PLOMRRQDOOD KHKWDDULOOD WXRWWDYDD PHWVlPDDWD1
7\|QWHNLM|LWl RQ QRLQ 45 833 KHQNLO|l 53 HUL PDDVVD1 /LLNHYDLKWR ROL 4<<< 57/8
PLOMDUGLD 6(.1


